
  III � 1 A-05-03

Instructions for the Candidates
1. Write your Hall Ticket Number in the space provided on the top

of this page.
2. This paper consists of seventy five multiple-choice type of

questions.
3. At the commencement of examination, the question booklet will

be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the paper

seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.

(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example :      A B C D

where (C) is the correct response.
5. Your responses to the items are to be indicated in the OMR Answer

Sheet given to you. If you mark at any place other than in the
circle in the Answer Sheet, it will not be evaluated.

6. Read instructions given inside carefully.
7. Rough Work is to be done in the end of this booklet.
8. If you write your name or put any mark on any part of the OMR

Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

9. The candidate must handover the OMR Answer Sheet to the
invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

 10. Use only Blue/Black Ball point pen.
 11. Use of any calculator or log table etc., is prohibited.
 12. There is no negative marks for incorrect answers.
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1. Slutskey substitution effect adopts the

(A) Compensating variation method

(B) Cost difference method

(C) Compensation method

(D) Income difference method

2. The difference between domestic income
and national income is

(A) Net invisible income from abroad

(B) Gross income from abroad

(C) Gross invisible income from abroad

(D) Net income from abroad

3. According to Myrdal, the main cause of
regional inequalities is

(A) A strong backwash effect

(B) A weak spread effect

(C) A strong backwash effect and weak
spread effect

(D) A weak backwash effect and strong
spread effect.

4. According to Wagner’s law of increasing
state activities, the income elasticity of
expenditure for public good is

(A) Unitary elastic

(B) Inelastic

(C) Elastic

(D) Perfectly inelastic

1. �����"i����	�
�j�
�
����	�
�����������k�����������������
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����'�����l ���
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(D) n!'#�"��$%�&'(��
!��m�
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(A) �!%�.'(� �����&��� ���/%�0��	!���.'"�.'(�������'

n!'#�"������
(B) �!%�.'(������&������/%�0���,
(�n!'#�"������
(C) �!%�.'(� �����&��� ���/%�0��	!���.'"�.'(� ��,
(

n!'#�"��
(D) �!%�.'(������&������/%�0�������'�n!'#�"������
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������
(B) 6(;:"����������'�	�
������
(C) 6(�7��8����	�
��'9:"�	�
������������#�"���6(;:"���

������'�	�
������
(D) 6(;:"����	�
��'9:"�	�
������������#�"���6(�7��8���
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������

4. �'"<��=�>'�#?"�����@� A
��'�<���$������=� �1q"r	 �
��"�$��B
�1��'"���3�4�(� ��,	$����	�
�1��'��	�
��"�$��B�����������C(�A
8
	�
��"�$��B����"#�"���#?"�����@�n!'#�"���'"�D/��$��B�
(A) s���$��B��'"�D/���<1���C�&�������
(B) ��'"�D/���<1���C�&�������
(C) �'"�D/���<1���C�&�������
(D) �
��
E��'F���'"�D/���<1���C�&�������
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5. The number of members in ASEAN are

(A) 6 (B) 8

(C) 9 (D) 10

6. Aggregate monetary resources are called

as

(A) Narrow money

(B) Broad money

(C) High powered money

(D) Base money

7. The Second Five Year Plan of India

accorded high priority to rapid

industrialization with emphasis on the

development of

(A) Small Scale Industries

(B) Basic and heavy industries

(C) Khadi and village industries

(D) Medium scale industries

8. Literacy rate of Andhra Pradesh, as per

2011 Census

(A) 77.66% (B) 67.66%

(C) 70.77% (D) 76.66%

9. The maximum rate of tariff that India can

levy on edible oil under WTO Agreement

on Agriculture is

(A) 100% (B) 150%

(C) 200% (D) 300%

5. ASEAN 3G������"�"(����5"

(A) 6 (B) 8

(C) 9 (D) 10

6. ����9HI�	!�����"���������'�(�����J3��9
(�j����'�

(A) �������K$���	!�����"�

(B) ����l $���	!�����"�

(C) �-�����.�"�����	!�����"�

(D) n-!'��'�	!�����"�

7. ����'$��� �7'�&������ �
�/�������'t� 	�
p�u����L��"��v��� � m���

	4������M�"�=���B&���� !'B�1� 4��	.'��� w������'p"����

�%�<������$����/%�#�"��N������-�����	4�-!'�'"�=K0���

(A) K���=�$����'���
�	.�"����(�

(B) ���xu���������#�"�����O� �
�	.�"����(�

(C) M�k������#�"���	<1L�p"� �
�	.�"����(�

(D) ����-!��"�$����'���
�	.�"����(�

8. 2011 q�'���3?"���@(�	�
�1��'�)�n�	-!��	�
!%�.�"�#?"�����@
�P���1��"$����%'N�

(A) 77.66% (B) 67.66%

(C) 70.77% (D) 76.66%

9. ���"���j�#�"����'�<����A
8�WTO�y�
Q�!����	�
�1��'�)������N
���,�7��A
8�����'$���!%�.�"���-��/��<��(�<����HIr�$��"-�������������
�%'N�

(A) 100% (B) 150%

(C) 200% (D) 300%
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10. For testing the significance of the

population regression coefficient ( �),

t = )ˆ
ˆ

β
β−β

���
  follows a t-distribution with

degrees of freedom =
(A) n (B) n – 1

(C) n – 2 (D) n – 3

11. In multiple linear regression model

(A)
2

R can never be negative

(B)
2

R <  R2

(C)
2

R = R2

(D)
2

R  > R2

12. Given the total cost curve of a firm,
C = b1Q – b2Q

2 + b3Q3, the marginal cost

curve is

(A)
��

��
= b1 + 2b2Q + 3b3Q2

(B)  
��

��
= b1 – 2b2Q + 3b3Q

2

(C)  
��

��
= b1 – 2b2Q + b3Q

2

(D)
��

��
 = b1 – b2Q + 3b3Q

2

13. Under Bretton Woods system the
fundamental deficit in balance of
payments of a country was dealt with

(A) Use of country’s own reserves

(B) Use of automatic borrowing rights
from IMF

(C) Use of expenditure reducing policies

(D) Change in the par value of the
country’s currency

10. q�'��� 	 �
�<��� ���p"� < ���p"� ���� ( �)� #? "��� ��@
	4�� ����5"$��� ���� �
OP ���/���N����)� tz���q� ���

t = )ˆ
ˆ

β
β−β

���
��
�<��p"���3G�����+����R�%��S�B/'0�
�-�

(A) n (B) n – 1

(C) n – 2 (D) n – 3

11. 6�:"�T�"�s����{,$���	�
�<������p"��������,�'3G

(A)
2

R �U�
|&��,�6��p�$��}�<1���C�&��!���

(B)
2

R <  R2

(C)
2

R = R2

(D)
2

R  > R2

12. ��� �� 
� #? "��� ��@� � 7���$ �� ��� � ��"#� "�� � %'5����
C = b1Q – b2Q

2 + b3Q
3� <1�JK0���/D)�!'�

V4��$������"#�"���%'5

(A)
��

��
= b1 + 2b2Q + 3b3Q2

(B)  
��

��
= b1 – 2b2Q + 3b3Q

2

(C)  
��

��
= b1 – 2b2Q + b3Q

2

(D)
��

��
 = b1 – b2Q + 3b3Q2

13. 	W?"NI�������C&>�i����"�����
3G�!%�.�"�/7�X���
C(�.%"�H�3G��	4�~�������
3GN������k��!'B�1��
E��/��&����q�Y���

(A) !%�.�"���B�$����(B(�����V�
#?",Y�/���N
(B) IMF������K� ��B#�"��/'(����6��p"� �:"����@(����

V�
#?",Y�/���N
(C) ���"#�"���!����
C��-!'�'(�����V�
#?",Y�/���N
(D) !%�.�"�����7'Zi�#?"�����@� �����,�������,��'����
C��(��������

���,��'�0N
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14. Sustained and high overall economic

growth in India is possible with the

farming sector growing per annum at

(A) 3 percent

(B) 4 percent

(C) 5 percent

(D) 6 percent

15. Which of the following conditions must be

satisfied for attaining Pareto-optimality ?

I. Efficiency in allocation of factors

II. Efficiency in distribution of

commodities

III. Efficiency in the product mix

Codes :

(A) I and II (B) I and III

(C) II and III (D) I, II and III

16. Which of the following are the  components

of aggregate demand ?

I. Consumption demand

II. Investment demand

III. Government expenditure

IV. Aggregate imports

Codes :

(A) I and II (B) I, II and III

(C) I, II and IV (D) I, II, III and IV

14. ����'$��!%�.�"�3G����"���j�#�"����'�<����'�t����A
��'�<���!��(�[

�%'N�3G���C���=�
|&�������'�$����'��-�����n�
������,
(���� �m

j�-!��"�
&�������

(A) 3 .'$���

(B) 4 .'$���

(C) 5 .'$���

(D) 6 .'$���

15. 4��7'�G��v(�Hpw"#�"�$�������j�-��/���N�����	�������'��"3G
s��#�"����,(��������$�� 9
��
��'/'X��

I. V$��Q����1��'�1(��%����'����
C3G�j�������'
"�
II. ����������C(��
�9
pw"3G�j�������'
"�
III. V$��Q$����(���	.�"�����3G�j�������'
"�

�������:
(A) I �����#�"�� II
(B) I �����#�"�� III
(C) II �����#�"�� III
(D) I, II �����#�"�� III

16. ����9HI�&�����,�&���3G����$���1�<1(��	�������'��"3G�s���

I. ��#?",<���&�����,�&>�

II. A
N�I6&���&�����,�&>�

III. 	�
��"�$��B����"#�"��

IV. ����9HI��<�������$���(�

�������:
(A) I �����#�"�� II
(B) I, II �����#�"�� III
(C) I, II �����#�"�� IV
(D) I, II, III �����#�"�� IV
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17. Indicators of Human Development

I. Average number of years of schooling

II. Birth rate

III. Average number of years from birth to

death

IV. Death rate

Codes :

(A) I and III

(B) II and IV

(C) II and III

(D) I, II and IV

18. Trends in the expenditure pattern of the

Central Government in India in 21st

Century shows that

I. Non-plan expenditure is greater than

plan expenditure

II. Non-plan expenditure is less than plan

expenditure

III. Revenue expenditure is greater than

capital expenditure

IV. Revenue expenditure is less than

capital expenditure

Codes :

(A) I and IV are correct

(B) II and III are correct

(C) I and III are correct

(D) II and IV are correct

17. ���,��������v��� �m�#?"�����@���,K���(�

I. 4���'.'(3G�/��������������$��i�1(���<��N�����5"

II. q��������%'N�

III. �
C��"I���� �D�� �����&��� ������'p�"�/%�� �����'����� ��<��N�

������$��i�1(����5"

IV. ������'p"��%'N�

������ :

(A) I �����#�"�� III

(B) II �����#�"�� IV

(C) II �����#�"�� III

(D) I, II �����#�"�� IV

18. 21 ����.�"$'6m�3G�����'$����%��	!���	�
��"�$��B����"#�"��O�3G�

4����&��(��k���/��,�
C$'�'��

I. 	�
p�u���� ���"#�"��� ����'=� 	�
p�u�%�$����'� ���"#�"��

U����@���

II. 	�
p�u���� ���"#�"��� ����'=� 	�
p�u�%�$����'� ���"#�"��

$������@���

III. ����,(-!���������"#�"�������'=��7'�7����,"����"#�"���U����@���

IV. ����,(-!���������"#�"�������'=��7'�7����,"����"#�"���$������@���

������� :

(A) I �����#�"�� IV ���7'8����

(B) II �����#�"�� III ���7'8����

(C) I �����#�"�� III ���7'8����

(D) II �����#�"�� IV ���7'8����
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19. The assumptions of monetary approach

to balance of payments

I. Stable money demand function

II. Given level of output

III. Purchasing power parity

IV. Full employment

Codes :

(A) I and II (B) II and III

(C) III and IV (D) I, II, III and IV

20. The organized Bill Market of India consists

of

I. Treasury Bills

II. Commercial Bills

III. Exchange Bills

Codes :

(A) I, II and III (B) I and II

(C) I and III (D) II and III

21. Which of the following concepts were

used by Sargent Florence to explain

location pattern of an Industry ?

I. Location factor

II. Coefficient of location

III. Concentration of labour

Codes :

(A) I and III (B) II and III

(C) I, II and III (D) I and II

19. /7�X���
C(�.%"�������	!�����"��-!'�����#?"�����@�	�
�%��#�",(�

I. 9�
��'�	!�����"�&�����,�&>��	�
�%��#�"��

II. V$��Q���j�
�'����J���B&���

III. �����,�����R����<D(��.�"����

IV. ����
E��'F�V!D"Y$��

������ :

(A) I �����#�"�� II (B) II �����#�"�� III

(C) III �����#�"�� IV (D) I, II, III �����#�"�� IV

20. ����'$��!%�.�"� ����{���"$��� �(��� ���,�7'@��"� 	������ �'��"�
���(Y���C���=�

I. 5*��'��(��(�
II. �'p�"q"��(��(�

III. ���,��'����
C��(��(�

������ :

(A) I, II �����#�"�� III (B) I �����#�"�� II

(C) I �����#�"�� III (D) II �����#�"�� III

21. 4��	.'��������
(����'F#�"��O���������/���N�����j��7'����"

����7'���i�V�
#?",Y�K������������(��s���

I. ��
(����'F#�"��V$��Q����1��'����

II. ��
(����'F#�"��<���p"����

III. 	.'�������%��	k�����'p"

������ :

(A) I �����#�"�� III (B) II �����#�"�� III
(C) I, II �����#�"�� III (D) I �����#�"�� II
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22. Which of the following are the uses of life
table ?

I. It is useful in estimating birth rate

II. It is useful to estimate the probability
of survival at each age

III. It is useful to estimate the life
expectancy

IV. It is useful to estimate maternal
mortality rate

Codes :

(A) I and II (B) II and III

(C) III and IV (D) I, II and III

23. WTO Agreement on Agriculture consists
of

I. Domestic support

II. Export subsidies

III. Market access

IV. Input subsidies

Codes :

(A) I and IV (B) II and IV

(C) I, II and III (D) I, II and IV

24. The assumptions of classical linear
regression model are

I. X is non stochastic

II. Zero mean value of disturbance term

III. Heteroscedasticity

IV. No autocorrelation

Codes :

(A) II and III (B) II and IV

(C) I, II and IV (D) I, II, III and IV

22. �������'��"3G�����$����
��"I������V�
#?",<1(��s���

I. q��������%'N����/���'��%��'��N3G�V�
#?",<���
&��������

II. 	�
�����#�"����i����!��\����/%�� ��������"$���������/���'
�%��'��N�����V�
#?",<���
&��������

III. �� ��� ��� 	 �
� ��,p��=� ��/���'� � %��'��N� ���
V�
#?",<���
&��������

IV. ���,$�� � ������'p�(� �%'N��������/���'� �%�#�"��N����
V�
#?",<���
&��������

������ :

(A) I �����#�"�� II (B) II �����#�"���III

(C) III �����#�"�� IV (D) I, II �����#�"�� III

23. ���"���j�#�"���A
8�WTO y�
Q�!����L��"�����XY���C���=��

I. !%�o#�"������!��\$���
II. U<���������	4�$'i�:"�1(�

III. ���,�7'@��"���!���W�N�

IV. V$��Q����1��'����	4�$'i�:"�1(�

������ :
(A) I �����#�"���IV (B) II �����#�"�� IV
(C) I, II �����#�"�� III (D) I, II �����#�"�� IV

24. j��	�
!'#�"��s����{,$��� 	�
�<������p"� �������,�'�#?"�����@
	�
�%��#�",(�

I. X #�",!�� K0����7��8������1!���
II. ��.�"0($����
!��������#?"�����@�����������-!��"��(�����.�",���"�
III. ;:"��"�D�A�@&'9�I9��w"
IV. ��B#�"������:"���6�-!����3]"����4����CN

������ :
(A) II �����#�"���III (B) II �����#�"���IV

(C) I, II �����#�"�� IV (D) I, II, III �����#�"���IV
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25. Simple correlation coefficient

I. Measures the degree of linear
relationship between variables

II. Establishes a cause -effect relationship

III. Contributes to the understanding of
interrelated economic behaviour

IV. Takes values from 0 to 1.

Codes :

(A) I and IV (B) I and III

(C) I, II and III (D) I, III and IV

26. Which of the following are the assumptions
of monopolistic competition ?

I. Large number of buyers and sellers

II. Free entry and free exit

III. Homogeneous product

IV. Uniform demand and cost curves

Codes :

(A) I, II and III (B) II, III and IV

(C) I, II and IV (D) I, III and IV

27. Globalization refers to unrestricted
movement of the following across
countries

I. Commodities

II. Capital

III. Technology

IV. Labour

Codes :

(A) I, II, III (B) II, III, IV

(C) I, II, IV (D) I, II, III, IV

25. j�-!'��'p"����:"���6�-!���<���p"����
I. /��3���1(� � ���-! ��"< ��(� s� �� �{,$��� ���6�-!'�=

3?"���@�/�������
II. �1��'"z�1��'�������6�-!'�=����'F�'���/�������
III. n�
���� 	�
�����'����3G�J��&�����C���=� ���6�-!'�=����'
�

/%�����R����N�����!D�:"!���
&�������
IV. 0 �����&�� 1 �����'������(����(��������XY���C�N���

������ :

(A) I �����#�"�� IV (B) I �����#�"�� III
(C) I, II �����#�"�� III (D) I, III �����#�"�� IV

26. 	�������'��"3G�s��s���j�B����"�4��w"�	�
�%��#�",(� ?

I. �R����<D(�!'��'�(�)������}� ���!'��'�(���-����
���5"3G���C�&���N

II. 	�
�%�.�"�S�B/��^������#�"����	�H@����p"�S�B/��^
III. ��*�+#�"������������C
IV. s�����',�
�&�����,�&>�������#�"������"#�"���%'5(�

������ :

(A) I, II �����#�"�� III (B) II, III �����#�"�� IV
(C) I, II �����#�"�� IV (D) I, III �����#�"�� IV

27. 	������ �'��"3G� !%�.'(� ����-!��"����'��!����'9:"$��� <������p"�
L��"������C�&�����=�	�
�
�������'p"�������,K�������

I. ����������C(�

II. ����,(-!������

III. j���%�������
�*������

IV. 	.�"����

������ :

(A) I, II �����#�"�� III (B) II, III �����#�"���IV

(C) I, II �����#�"���IV (D) I, II, III �����#�"�� IV
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28. Arrange the following institutions in rural

credit sphere in India based on

emergence in chronological order

I. Commercial Banks

II. Co-operative Banks

III. Regional Rural Banks

Codes :

(A) I, II and III

(B) II, III and I

(C) II, I and III

(D) III, II and I

29. Assertion (A) :A firm is a price taker in

perfect competitive market

Reason (R) : In the perfect competitive

market, price is determined

by the interaction of  market

demand and supply

curves.

Codes :

(A) Both A and R are true and R is the

correct explanation for A

(B) Both A and R are true but R is not the

correct explanation for A

(C) A is true R is false

(D) A is false R is true

28. ����'$��!%�.�"� 	<1L�p"� �
��' �
�� P%�	$���3G� 	������ �����
(
n��1��'�=6��"I��1(	��������3G��'��"���������'�0������

I. �'p�"q"�W�"�����(�

II. ���:"�1��'�W�"�����(�

III. 	4��+#�"��	<1L�p"�W�"�����(�

������ :

(A) I, II  �����#�"���III

(B) II, III  �����#�"���I

(C) II, I ������#�"���III

(D) III, II �����#�"�� I

29. �������������(A) : �
��
E��'F�4��w"����,�7'@��"3G�������


-!����'�;�B�����'�


������
����(R) : �
��
E��'F�4��w"����,�7'@��"3G����,�7'@��"

&�����,�&>�������#�"������
�#�"���%'5(

�
��'��Q��'�5�&������!'B�1�-!����'

���'F�'���/��6&��������

������ :

(A) A, R (���7'�&��,���$��"�����������#�"�� R, A ����
���7'8����������'p"

(B) A, R (���7'�&��,���$��"�����)���'��$%� R, A ��������7'8���
������'p"��1!���

(C) A ��$��"�����) R $���
|

(D) A $���
|) R ��$��"�����
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30. Assertion (A) : In case of liquidity trap,
liquidity preference curve
become horizontal at a
very low rate of interest.

Reason (R) : Liquidity preference curve
shows negative relationship
between demand for
money and interest rate.

Codes :

(A) Both A and R are true and R is the
correct explanation for A

(B) Both A and R are true but R is not
correct explanation for A

(C) A is true but R is false

(D) A is false but R is true

31. Assertion (A) : According to Malthus,
during the period of
Industrial Revolution the
household income level
increased because of
increased working hours
and employment of female
and children.

Reason (R) : Birth rates responded
positively to increase
percapita income that
reflect the early phase of
industrialization.

Codes :

(A) A and R are true and R is the correct
explanation of A

(B) A and R are true but R is not the
correct explanation of A

(C) A is true but R is false

(D) A is false but R is true

30. �������������(A) : 	!�����"$��B����(#�"���	�
�1��'�)

	!�����"$'Bv��'�K��%'5����$������@�������&w�2
�%'N�����!��\������,�$����'�%'5<1���C�&��������


������
����(R) : 	!�����"$'Bv��'�K��%'5����&w�2��%'N�����
�����#�"���	!�����"�&�����,�&>����������-!��"<��(
6��p�$��}�������6�-!'�=

/��,9
�������

������ :

(A) A, R (���7'�&��,���$��"�����������#�"�� R, A ��������7'8���
������'p"

(B) A,R (���7'�&��,���$��"�����)���'��$%��R, A ��������7'8���
������'p"��1!���

(C) A ��$��"�����)���'��$%��R $���
|
(D) A $���
|)���'��$%��R ��$��"�����

31. �������������(A) : ���,(
���	�
�1��'�)�4��	.'��������
�����
�1(�3G�;��(����)�9
(�(�����V4�-�����(Q���
A
�/���N�!'B�1�����N��W�(�n!'#�"�
j�
�'���A
�Y��


������
����(R) : A
�Y� ��� $ ��(���� n!'#� ",����
-!���'$��}����<1�q��������%'N��6!���X���B���=
4��	.'���w������'p"3G�	4���'���"�j�
�'���
	�
�����������

������ :

(A) A, R (���7'�&��,���$��"�����������#�"�� R, A ��������7'8���
������'p"

(B) A, R (���7'�&��,���$��"�����)���'��$%��R, A ��������7'8���
������'p"��1!���

(C) A ��$��"�����)��1��R $���
|
(D) A $���
|)��1� R ��$��"�����
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32. Assertion (A) :FRBM Act fixed the

optimum target of the

fiscal deficit of  the

Central  Government

of India at 3 percent of

GDP.

Reason (R) : The higher levels of fiscal

deficit leads to debt trap.

Codes :

(A) Both A and R are true, but R is not the

correct explanation for A

(B) Both A and R are true and R is the

correct explanation for A

(C) A is true but R is false

(D) A is false but R is true

33. Assertion (A) : Grubel and Lloyd estimated

that 71 percent of the

increase in trade between

EEC countries during

1959 to 1967 was

intra-industry trade

Reason (R) : Heckscher – Ohlin model

is able to explain

intra-industry trade

Codes :

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true but R is not the

correct explanation of A

(C) A is true R is false

(D) A is false R is true

32. �������������(A) : ����'$����%��	!���	�
��"�$��B��D.�"3GN�
#?"�����@��v(�Hpw"#�"��(P1"�=
GDP�3G�3 .'$���<1�FRBM

/��NI�����'F�'���K���


������
����(R) : �D.�"3GN���-�����j�
�'��(3G���C���=/D
���6��p"���(#�",����
!'�+#�"�������

������ :

(A) A, R (���7'�&��,���$��"�����)���'��$%��R, A ��������7'8���
������'p"��1!���

(B) A, R (���7'�&��,���$��"�����������#�"���R, A ��������7'8���
������'p"

(C) A ��$��"�����)��1� R $���
|

(D) A $���
|)��1� R ��$��"�����

33. �������������(A) : 	<��,W?"3�")�3��'��&>����/���'(�	�
�1��'�

1959 �����&���1967 �����'���� EEC

!%�.'(�����-!��"�q�Y�����'"4���'�3G 71

.'$������$����'�$����
�	.�"����(��'"4���'�


������
����(R) : ��$����'�$����
�	.�"������'"4��1�=)

A:"���i�>'��9:"�����9�!'m�$���

������/��<��(!���

������ :

(A) A, R (���7'�&��,���$��"�����) R, A ��������7'8����������'p"

(B) A, R (���7'�&��,� ��$��"�����)��1��R, A ����� ���7'8���

������'p"��1!���

(C) A ��$��"�����) R $���
|

(D) A $���
|) R ��$��"�����
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34. Assertion (A) : RBI has been using the

policy of liquidity
Adjustment Facility to
stabilize the short term rate
of interest.

Reason (R) : Liquidity Adjustment
Facility influences the
volume of liquidity in the
Money Market

Codes :

(A) Both A and R are false

(B) Both A and R are true and R is the
correct explanation for  A

(C) Both A and R are true, but R is not the
correct explanation for A.

(D) A is true, but R is false

35. Assertion (A) : In pure economic theory,
the cost of capital is
generally taken as a
single rate of interest.

Reason (R) : Pure economic theory is
based on the assumption
of perfect competition and
certainty in the capital
markets.

Codes :

(A) Both A and R are false

(B) Both A and R are true and R is the
correct explanation for A

(C) Both A and R are true and R is not the
correct explanation for A

(D) A is true, but R is false

34. �������������(A) : ��B(Q�1(����&w�2��%'N������9�
O�����/���N����
����'$����q�>'B�W�"������	!�����"$��B
�����'�\W�N��j�����1"�=�V�
#?",Y�������


������
����(R) : 	!�����"� ���,�7'@��"3G� �����&���� 	!�����"$��B
�
����,p��=� 	!�����"$��B� ����'�\W�N�

j������'"��	�
���$����/%�#�"�<��(!����

������ :

(A) A, R (���7'�&��,�$���
|

(B) A,R (���7'�&��,���$��"�����)������#�"���R, A ��������7'8���
������'p"

(C) A, R (���7'�&��,���$��"�����)���'��$%��R, A ��������7'8���
������'p"��1!���

(D) A ��$��"�����)�R $���
|

35. � ������������(A) : .�"�!��m�n�
����9�!'m�$����	�
�1��'�)

����,(-!���������"#�",�=�j�-!'��'p"�<1

y�%�����&w�2�%'N�<1�����/��&���
q��'�<���$������


������
����(R) : ����
E��' F� 7��8� ��� 4�� w ")� ����,(-!�����
���,�7'@��"3G�5K0$��$��B����C�N������%�
	�
�%��#�",(�A
8����.�"�!��m�n�
����9�!'m�$���
n-!'��'�
&�����C���

������ :

(A) A, R (���7'�&��,�$���
|
(B) A, R (���7'�&��,���$��"�����������#�"�� R, A ��������7'8���

������'p"
(C) A,R (���7'�&������$��"�����)���'��$%��R, A ��������7'8���

������'p"��1!���
(D) A ��$��"�����)��1� R $���
|
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36. Assertion (A) :According to Malthusian

theory, population

increases at geometric

ratio.

Reason (R) : Malthus advocated that in

order to control population,

people should have moral

restraint and limit their

family.

Codes :

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true but R is not

correct explanation of A

(C) A is false but R is true

(D) A is true but R is false

37. Assertion (A) : IRDP has not succeeded

upto the expectations.

Reason (R) : There is defect in IRDP

because of centralised

structure

Codes :

(A) Both A and R are correct and R is the

correct reason for A

(B) Both A and R are true but R is not the

correct explanation for A

(C) A is true but R is false

(D) A is false but R is true

36. � ������������(A) : ���,(
���9�!'m�$����	�
�1��'�)�q�'��

<��p�"$�����HQ��3G�A
��'�<���$������


������
����(R) : q�'�������$��Y��/���N�����9
(�(

����5"������!����
C�/%�S���7�8����

����'��!'�=�	�
q(�����XY���C�&'(�

����,(
���	�
�4���/'&����

������ :

(A) A,R (���7'�&��,���$��"�������#�"�� R, A ��������7'8���

������'p"

(B) A, R (���7'�&��,���$��"�)��1� R, A ��������7'8����������'p"

�1!���

(C) A $���
|)��1��R ��$��"�����

(D) A ��$��"�����)��1��R $���
|

37. ������������ (A) : IRDP �
~�������n��K����$����%����'����
���{���� $�����13]"!���


������
��� (R) : �%��	k��� $���7��8������1}p��=
���XY���C���=�!������(��IRDP

�
~������������(�3G�3G�
����C���
������ :

(A) A, R (���7'�&��,���$��"�������#�"���R, A ��������7'8���
������'p"

(B) A, R (���7'�&��,���$��"�)���'��$%�� R, A ��������7'8���
������'p"��1!���

(C) A ��$��"�)��1��R $���
|

(D) A $���
|)��1��R ��$��"�
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38. Assertion (A) :The input-output analysis

is qualified to be a general

equilibrium analysis.

Reason (R) : The input-output

analysis explains the

interdependence of

various sectors of the

economy.

Codes :

(A) A is true but R is false

(B) R is true but A is false

(C) Both A and R are true and R is the

correct explanation for A

(D) Both A and R are true and R is not the

correct explanation for A

39. Assertion (A) : The OLS estimators for a

simultaneous equations

model are consistent

Reason (R) : Simultaneous equations

model expresses the two

way relationship among

variables

Codes :

(A) A is true but R is false

(B) R is true but A is false

(C) A and R are true but R is not the

correct explanation for A

(D) A and R are true and R is the correct

explanation for A

38. �������������(A) : V$'Q!�����zV$��Q����.%"��Hp"�y���
j�-!'��'p"�������$�("��.%"��Hp"<1����'_$��
4������


������
����(R) : V$'Q!�����zV$��Q����.%"��Hp")�n�
���
���"�����
3G����-!�����'�<1(�����-!��"
�����&�����
��'��Q��'�n-!'��'�$��$'��B�=

������������
������ :

(A) A ��$��"�)��1��R $���
|

(B) R ��$��"�)��1� A $���
|

(C) A, R (���7'�&��,���$��"�������#�"�� R, A ��������7'8���
������'p"

(D) A, R (���7'�&��,���$��"�������#�"���R, A ��������7'8���
������'p"��1!���

39. �������������(A) : s����1X������L������'p�(��������,�'3G

OLS ��/���'(���(���&7�8����


������
����(R) : /��(��1.�"�(�����-!��"������&����!7�8B4�P�����

���6�-!'�=�s����1X������L������'p�(

�������,�'�$7�X#�"�*]"�������

������ :

(A) A ��$��"�)���'��$%� R $���
|

(B) R ��$��"�)��1� A $���
|

(C) A, R (����$��"�)��1� R, A ��������7'8����������'p"��1!���

(D) A, R (����$��"�������#�"�� R, A ��������7'8����������'p"
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40. Assertion (A) : Linear programming

bridges the gap between

economic theory and

managerial decision

making.

Reason (R) : Linear programming offers

specific numerical

solutions to optimization

Problems

Codes :

(A) Both A and R are true and R is the

correct explanation for A

(B) Both A and R are true but R is not

correct explanation for A

(C) A is true but R is false

(D) A is false but R is true

41. Assertion (A) :The Williamson’s

Washington Consensus

failed to solve Asian

Financial Crisis.

Reason (R) : Williamson’s manifesto

did not include capital

account convertibility.

Codes :

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true but R is not the

correct explanation of A

(C) A is true R is false

(D) A is false R is true

40. �������������(A) : n�
����9�!'m�$'����)�#�",q���,���"

���'F#�",���������-!��"������&������$���1�=

s����{,$���	�
p�u�����
E�������


������
����(R) : �v(�Hpw"#�"����������"(����

	�
$%�"����K�������M�"$��}���

�
���@�1(�����s����{,$���	�
p�u���

���������

������ :

(A) A, R (���7'�&��,���$��"�������#�"�� R, A ��������7'8���
������'p"

(B) A, R (���7'�&��,���$��"�)��1� R, A ��������7'8����������'p"
�1!���

(C) A ��$��"�����)��1� R $���
|

(D) A $���
|)��1� R ��$��"�����

41. ������������ (A) : �X#�"��������	�
�4���K���
���'9H�<��I����s�1v	4�#�"�����n9�#�",
�$�������PD���=��
��H@��/���N3G
��{(�7��8���


������
����(R) : ����,(-!������M�$'����,�Q&���
�X#�"��������	�
���N���3G�/%���'03]"!���

������ :

(A) A, R (���7'�&��,���$��"�������#�"�� R, A ��������7'8���
������'p"

(B) A, R (���7'�&��,���$��"�)���'��$%��R, A ��������7'8���
������'p"��1!���

(C) A ��$��"�����)��1� R $���
|

(D) A $���
|)��1� R ��$��"�����
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42. Assertion (A) : Cotton yield has

increased significantly

over the last decade

Reason (R) : Cotton farmers have

extensively adopted BT

cotton seeds in this

decade

Codes :

(A) A and R are true and R is the correct

explanation for A

(B) A and R are true but R is not the

correct explanation for A

(C) A is true but R is false

(D) A is false but R is true

43. Arrange the following markets according

to increasing degree of barrier to entry into

them.

I. Monopoly

II. Monopolistic Competition

III. Oligopoly

IV. Perfect Competition

Codes :

(A) IV, II, III and I

(B) II, IV, III and I

(C) II, III, I and IV

(D) III, II, I and IV

42. �������������(A) : <��$���!��.'6\�$D�4�X0$%��	�
����$��

!��.'6\�3G�	�
����<���6&��

<��p"pw"#�"��<1�A
�Y���


������
��� (R) : 	�
����7'8$���(������"��	�
����$����'(����

[�!��.'6\�3G��j����'�<1

��#?",Y�/'��'��

������ :

(A) A, R (���7'�&��,���$��"�����������#�"�� R, A ��������7'8���

������'p"

(B) A, R �7'�&��,� ��$��"�����)���'��$%� R, A ����� ���7'8���

������'p"��1!���

(C) A ��$��"�����)��1� R $���
|

(D) A $���
|)��1� R ��$��"�����

43. �<������� S
�R@���=� ���,�7'@N������ n#�",� ���,�7'@N�3G
	�
�%���/���N����� <��(��&�� 2�����(� j�
�'��� A
��'�<���!��(
���������K��������'�0������

I. s���j�B����"�����
II. s���j�B����"�4��w"

III. �
���$���j�B����"�����

IV. ����
E��'F�4��w"����,�7'@��"

������ :

(A) IV, II, III �����#�"���I

(B) II, IV, III �����#�"���I

(C) II, III, I �����#�"���IV

(D) III, II, I �����#�"���IV
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44. Increase in money supply leads to
increase in national income. Arrange the
transmission mechanism in an order

I. Increase in aggregate demand

II. Increase in investment

III. Decrease in rate of interest

IV. Increase in the level of National
Income

Codes :

(A) III, II, I and IV (B) III, I, II and IV

(C) I, III, II and IV (D) II, I, III and IV

45. Arrange the following in sequential order

I. Wealth of Nations

II. Das capital

III. Malthus Principle of Population

IV. Joan Robinson’s Accumulation of

Capital

Codes :

(A) I, II, III, IV (B) IV, III, II, I

(C) I, III, II, IV (D) I, II, IV, III

46. Arrange the following in a chronological

order

I. Direct Taxes Code (DTC) Bill

II. FRBM Act

III. GST Network

IV. VAT Bill

Codes :

(A) I, II, III, IV (B) IV, III, II, I

(C) IV, II, I, III (D) II, I, III, IV

44. 	!�����"� ����'�{�13G�� A
��'�<���!��(� *�+#�",!'#�"������3G
A
��'�<���!��(�����!'�+#�"��������n�	�
	���#�"��s�	������������3G
V�N��!D�n��-!���<1��<��������'����������'�0������

I. ����9HI�&�����,�&>�3G�A
��'�<���!��(
II. A
N�I6&��3G�A
��'�<���!��(
III. ���&w�2��%'N�3G�$��<����!��(
IV. *�+#�",!'#�"��j�
�'��3G�A
��'�<���!��(

������ :
(A) III, II, I �����#�"���IV
(B) III, I, II �����#�"���IV
(C) I, III, II �����#�"���IV
(D) II, I, III �����#�"���IV

45. �<��������'����1(	������,�����<�����K��������'�0������

I. �7�3�"��n�{��%��H���i
II. !'����19
N3�"

III. ���,(
���	9
�i�
C3�"�n�{�4��
C3]"�H���

IV. *G�����1���������i������"�����3]"�H����n�{��19
N3�"

������ :

(A) I, II, III, IV (B) IV, III, II, I

(C) I, III, II, IV (D) I, II, IV, III

46. �<��������'����1(	������,����j���'�<1��������'�0������

I. 	�
$��"P����
����=(��#�"����,���u (DTC) �(��

II. �D.�"�W�-!��"$��������#�"���6&7����"����'B�:"p"�/��NI�����

III. j�-!����'p"�S��'��
����=(��
�-�

IV. �(�����n-!'�$����
����=��(��

������ :

(A) I, II, III, IV (B) IV, III, II, I

(C) IV, II, I, III (D) II, I, III, IV
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47. Arrange the following foreign currencies
in ascending order of their value in rupee
during 2013-14.

I. US Dollar

II. Pound Sterling

III. Euro

IV. Australian Dollar

Codes :

(A) I, II, III, IV (B) II, III, IV, I

(C) IV, I, III, II (D) III, IV, I, II

48. Arrange the following institutions in the
chronological order.

I. IDBI

II. IIBI

III. IRBI

IV. IRCI

Codes :

(A) I, II, III, IV (B) I, IV, III, II

(C) III, IV, I, II (D) IV, III, II, I

49. Arrange the following goods in
descending order of their weight in the
IIP estimates.

I. Basic goods

II. Capital goods

III. Intermediate goods

IV. Consumer durables

Codes :

(A) I, II, III, IV (B) IV, III, II, I

(C) II, III, IV, I (D) IV, I, III, II

47. [��<�������S
�R@���=��!%�o�����7'Zi(���� 2013-14 �����3G
��',4��'��� �(����� ��',�
�3G� �'�� �(��������6��" I
n�D�:"p"	��������3G��������'�0������

I. ��7����1�&'(��'�

II. 4��&����A�I���<>�

III. #�"�,�D

IV. n�S�IX#�",�&'(��'�

������ :

(A) I, II, III, IV (B) II, III, IV, I

(C) IV, I, III, II (D) III, IV, I, II

48. 	����!���J���B6&�����������
(����������'����	��������3G��������'�0������
I. `�&�����`�(IDBI)

II. `�̀ ���̀ �(IIBI)

III. `�n�>'���̀ �(IRBI)

IV. `�n�>��9��`�(IRCI)

������ :

(A) I, II, III, IV (B) I, IV, III, II

(C) III, IV, I, II (D) IV, III, II, I

49. IIP ��/���'(3G�J���B6&%�����$�������(�n-!'��'�<1��<������
J���B6&����������������C(����������D�:"p"�	��������3G��������'�0������

I. ����,3�-!'��'�����������C(�

II. ����,(-!����������������C(�

III. ���,-!��"����������������C(�

IV. �-�����1(������=���<��(���#?",<�������������C(�

������ :

(A) I, II, III, IV (B) IV, III, II, I

(C) II, III, IV, I (D) IV, I, III, II
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50. Arrange the following in the chronological
order of refinement in the measurement
of fertility

I. General fertility rate

II. Age specific fertility rate

III. Total fertility rate

IV. Birth rate

Codes :

(A) IV, I, II and III (B) IV, III, I and II

(C) II, IV, III and I (D) III, II, I and IV

51. Arrange the following rural employment
programmes in chronological order

I. Mahatma Gandhi National Rural
Employment Guarantee Act
(MGNREGA)

II. Swarna Jayanthi Gram Swarojgar
Yojana (SJGSY)

III. Jawahar Rozgar Yojana (JRY)

IV. National Rural Employment
Programme (NREP)

Codes :

(A) IV, III, II, I (B) III, II, I, IV
(C) II, I, III, IV (D) IV, II, I, III

52. Given the demand equation x = 100 – P,
find the price elasticity of demand at the
given price levels and arrange them in
the ascending order of magnitude

I. P = 0

II. P = 50

III. P = 75

IV. P = 90

Codes :

(A) I, II, III, IV (B) IV, III, II, I

(C) I, II, IV, III (D) II, I, III, IV

50. �{(k�����'p"� �R(���,��������3G� ���K0���� �7����'�<���!��(
�����j���'�������<��������'��������'���	��������3G�	�'#�"��������

I. j�-!'��'p"��{(k�����'p"��%'N�

II. ���#�"����i���m�HI��{(k�����'p"��%'N�

III. �7���$������{(k�����'p"��%'N�

IV. q����'(��%'N�

������ :
(A) IV, I, II �����#�"���III (B) IV, III, I �����#�"�� II

(C) II, IV, III �����#�"�� I (D) III, II, I �����#�"�� IV

51. �<�������J���B6&������	<1L�p"�V!D"Y$'��
~���1(����������'���
	��������3G��������'�0������

I. MGNREGA

II. SJGSY

III. JRY

IV. NREP

������ :

(A) IV, III, II, I (B) III, II, I, IV

(C) II, I, III, IV (D) IV, II, I, III

52. x = 100 – P ��%��&�����,�&������L������'p��=�J���B6&�����
-!����'(����!��\�-!����'��'"�D/��$'B�=���������R@���'��"��n�D�:"p"
	��������3G��������'�0������

I. P = 0

II. P = 50

III. P = 75

IV. P = 90

������ :
(A) I, II, III, IV (B) IV, III, II, I

(C) I, II, IV, III (D) II, I, III, IV
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53. Arrange the explanatory variables of the

following estimated equation in

ascending order of their ‘t’ values

 ŷ  = 1044 + 10 x1 + 3.2 x2 + 10.1 x3

(2.5)   (0.64)  (20.2)

Codes :

(A) x 3   x 1    x2

(B) x1   x2     x3

(C) x2   x1    x3

(D) x3   x2    x1

54. Arrange the following concepts in the

ascending order of their appearance in

Input-Output analysis.

I. Input-coefficients

II. Output determination

III. Transactions matrix

IV. Simultaneous equations

Codes :

(A) I, II, III, IV (B) IV, III, I, II

(C) III, II, IV, I (D) II, III, I, IV

55. Arrange the following UNCTAD

Conferences in chronological order

I. Manila

II. Santiago

III. New Delhi

IV. Nairobi

Codes :

(A) I, II, III, IV (B) II, III, I, IV

(C) III, II, IV, I (D) IV, III, II, I

53. ��/���'��%�#�"�6&������	������	�
�<������������L������'p"�����3G�
������'p�$��}����/���1��1(������'��" ‘t’ �(����(�n-!'��'�<1
n�D�:"p"�	��������3G��������'�0������
ŷ  = 1044 + 10 x1 + 3.2 x2 + 10.1 x3

        (2.5)   (0.64)    (20.2)

������ :

(A) x 3   x 1    x2

(B) x1   x2     x3

(C) x2   x1    x3

(D) x3   x2    x1

54. 	��������������(�����V$'Q!�����zV$��Q����.%"��Hp"3G�<D/����/%�
	������,�=6��"I�n�D�:"p"	��������3G��������'�0������

I. V$'Q!������<���p"�1(�

II. V$��Q������'F#�"������

III. ���"�����1(����,	����

IV. �������1X������L������'p�(�

������ :

(A) I, II, III, IV (B) IV, III, I, II

(C) III, II, IV, I (D) II, III, I, IV

55. �<������� J���B6&����� UNCTAD �����,�%�.�"�����(����
�����'���	��������3G��������'�0������

I. ����Z3�
II. .'���"#�",<D
III. 	�R$�����w���
IV. �7�8�D�

������ :

(A) I, II, III, IV (B) II, III, I, IV

(C) III, II, IV, I (D) IV, III, II, I
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56. Arrange the reforms in agriculture sector

that have come up in sequencing order

I. Commodity future market

II. Warehousing Development and

Regulatory Authority (WDRA)

III. Food Processing Industry

Codes :

(A) I, II, III (B) I, III, II

(C) II, I, III (D) III, II, I

57. Match the following :

List – I List – II

(Nature of  (Type of isoquant)
substitution

between factors)

a) Perfect substitutability 1. Convex isoquant

b) Zero substitutability 2. Kinked isoquant

c) Limited substitutability 3. Input-Output

isoquant

d) Continuously 4. Linear isoquant

substitutable over

certain range beyond

which can’t be

substitutable

Codes :

a b c d

(A) 1 2 4 3

(B) 3 4 1 2

(C) 4 3 2 1

(D) 4 2 3 1

56. 	����!���S
�R@���=����"���j�#�"���'�<��������@��'p"(������1(	�������
�����'���3G��������'�0������

I. ����������"��H"$������,�7'@��"

II. <D!'�����(��v��� �m������#�"����#�"��	$��p�-��1��'
�����


III. n���'�	�
	���#�"���
�	.�"����

������ :

(A) I, II, III (B) I, III, II

(C) II, I, III (D) III, II, I

57. q$���
��'�/��������

i�j� ��– I i�j�� – II

(������ ��!����!"�
���#���$�����k�������)  (��	
%�&����� ��'�(�����!"�)

a) ����
E��'F�	�
�j�
�
���$��B����� 1. �
C���1��'����7�,$'B!�����

�%'5

b) .�",���"�	�
�j�
�
���$��B����� 2. �7�����������������Y��� �

���7�,$'B!�������%'5

c) �
���$���	�
�j�
�
���$��B����� 3. V$'Q!������V$��Q��

���7�,$'B!�������%'5

d) <����HI��9�
�������'���,�q��'<��� 4. s����{,$������7�,$'B!�������%'5

���'�$����'�	�
�j�
�
���$��B�����

������ :

a b c d

(A) 1 2 4 3

(B) 3 4 1 2

(C) 4 3 2 1

(D) 4 2 3 1
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58. Match the following :

List – I List – II

(Macro variables) (Keynesian

Determinants)

a) Level of employment 1. Marginal
Efficiency of
capital

b) Aggregate supply 2. Technical
conditions

c) Consumption 3. Effective demand
demand

d) Investment demand 4. Disposable
income

Codes :
a b c d

(A) 1 2 3 4
(B) 2 3 1 4
(C) 3 2 4 1
(D) 3 4 2 1

59. Match the following :

List – I List – II

a) Rosenstein Rodan 1. g = s/c

b) Harrod Domar Model 2. Simultaneous
development of
many industries

c) Solow 3. Sustained
improvements in
technology

d) Kuznet 4. β= Aky

Codes :
a b c d

(A) 2 1 4 3
(B) 1 2 3 4

(C) 3 2 1 4

(D) 4 3 2 1

58. q$���
��'/�������� :
i�j� �� – I i�j� �� – II

  (�	&�"�)��*�+�!"�)             (�l
�,���-.�����
/�0�!m-����!"�)

a) V!D"Y$'�j�
�'�� 1. V4��$�������,(-!�����
j�������'
"�����

b) �����9HI�����'�{�1 2. j���%������9�
�<��$���(�

c) ��#?",<���&�����,�&��� 3. �
�p������1��&�����,�&���

d) A
N�I6&���&�����,�&��� 4. ���"#�",��'
�n!'#�"������

������ :
a b c d

(A) 1 2 3 4

(B) 2 3 1 4

(C) 3 2 4 1

(D) 3 4 2 1

59. q$���
��'�/�������� :
i�j� ��– I i�j�� – II

a) �RA����9�I�����D&'��� 1. g = s/c

b) ���'&>�z&D�����>'��������,�' 2. s����1(�3G�U����@���
�
�	.�"����(����
��� �m�/%�#�"��N

c) j�3G 3. j���%�������
�*����������3G
9�
��'�7��8������� �m

d) ���*?"=��" 4. β= Aky

������ :
a b c d

(A) 2 1 4 3

(B) 1 2 3 4

(C) 3 2 1 4

(D) 4 3 2 1
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60. Match the following and find the correct

answer :

List – I List – II

a) Policy of surplus budget 1. Deliberate changes

b) Policy of deficit budget 2. To overcome
depression

c) Discretionary Fiscal 3. Built-in-stabilizers

 Policy

d) Non-Discretionary 4. To control inflation

Fiscal Policy

Codes :
a b c d

(A) 1 2 3 4

(B) 4 2 1 3

(C) 4 3 2 1

(D) 2 4 1 3

61. Match the following :

List – I List – II

a) Directly unproductive 1. Krueger

 profit-seeking activities

b) Rent seeking 2. Robert Baldwin

c) Median voter model 3. Finger

d) Lobbying 4. Jagadish

Bhagwati

Codes :

a b c d

(A) 1 3 2 4

(B) 4 1 2 3

(C) 4 2 1 3

(D) 3 4 1 2

60. ���7'8���������,-!'�'�=�U����=�R��q$���
��'�/�������� :

i�j� �� – I i�j� ��– II

a) ��<���(��6&7����"��-!'�������� 1. �
�1"3GK�/�������,��'�Q(�

b) 3GN��6&7����"��-!'�������� 2. ���,�!��"�����������&��
6#�"�N��
&���N����

c) �/��P��p�#�"��$����D.�"��-!'�������� 3. ��$����'�$���9�
��'$��B
�1��'�1(�

d) �/��P��p���'9:"$����D.�"��-!'�������� 4. 	!���D"(�p"��#�"��	$��p"

������ :
a b c d

(A) 1 2 3 4

(B) 4 2 1 3

(C) 4 3 2 1

(D) 2 4 1 3

61. q$���
��'�/�������� :

i�j����– I i�j���– II

a) 	�
$��"P���<1������$'Q!����� 1. 	���,<���>'
3���(��n��/%���1��'"���3�4�(�

b) ��N���������n��/%�� 2. �16�>'I�W�3�"2����

c) ����-!��"<��$����N��'���������,�' 3. 9{�<���>'

d) W]"��'����,&���N 4. q<��k�H���"<������

������ :
a b c d

(A) 1 3 2 4

(B) 4 1 2 3

(C) 4 2 1 3

(D) 3 4 1 2



�������

 III� 26 A-05-03

62. Match the following and find the correct
answer.

List – I List – II

a) Nariman 1.  Agricultural
Credit Review
Committee

b) Narasimham 2. Study Group on
National Credit

c) Khusro 3. Committee of
Bankers

d) Gadgil 4. Committee on
Financial system

Codes :
a b c d

(A) 3 2 1 4
(B) 4 3 2 1
(C) 2 4 1 3
(D) 3 4 1 2

63. Match the following and select the correct
answer.

List – I List – II

a) Departmental 1. Industrial
organization Finance

Corporation

b) Public Corporation 2. Hindustan
Machine Tools

c) Government 3. Tata Iron and

Company Steel Company

d) Private Company 4. Posts and
Telegraphs

Codes :
a b c d

(A) 4 1 2 3
(B) 4 2 3 1
(C) 3 4 2 1

(D) 2 3 4 1

62. ���7'8���������,-!'���������U����=�R��q$���
��'�/��������.

i�j��� – I i�j�� – II

a) �'�������� 1.  ���"���j�#�"���
��'�
�

��L�P1�������w"

b) ������'9���:"� 2. *�+#�"���
��'�
��A
8

�-!��"#�"�����������,�:"�����

c) 5�	j� 3. W�"������'��������w"

d) <1&���3�" 4. �$�������"�����
�A
8�������w"

������ :
a b c d

(A) 3 2 1 4

(B) 4 3 2 1

(C) 2 4 1 3

(D) 3 4 1 2

63. ���7'8���������,-!'���������U����=�R��q$���
��'�/��������.

i�j��� – I i�j�� – II

a) .'5(�
��'�7��8���������
 1. 4��	.'�������$���������


b) 	�
��"�$��B������
 2. 9:"�!��,j������#�"��	$��
�
�����1(�

c) 	�
��"�$��B�����A
Z 3. �����J���������������#�"��
V����@�����A
Z

d) 	A
��%�N������A
Z 4. $�����$��4�3�

�������:
a b c d

(A) 4 1 2 3

(B) 4 2 3 1

(C) 3 4 2 1

(D) 2 3 4 1
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64. Match the following :

List – I List – II

         (State) (Percentage share

in the total

population of India,

2011)

a) Uttar Pradesh 1. 9 percent

b) Maharashtra 2. 8 percent

c) West Bengal 3. 7 percent

d) Andhra Pradesh 4. 16 percent

Codes :

a b c d

(A) 1 4 3 2

(B) 4 1 2 3

(C) 2 1 4 3

(D) 3 2 1 4

65. Match the following and find the correct

answer.

List – I List – II

a) DPAP 1. 1974-75

b) CADP 2. 1977-78

c) DDP 3. 1980

d) IRDP 4. 1973

Codes :

a b c d

(A) 4 1 3 2

(B) 4 3 2 1

(C) 1 2 3 4

(D) 2 3 1 4

64. q$���
��'�/�������� :

i�j� �� – I i�j� �� – II

         (�!�1n
����)                      (2��������'���� 2011 
%������ +
3��2�*4��!�1n�3��2�
5���������������
����)

a) V$�����'�	�
!%�.�" 1. 9 .'$�������

b) ������1�H� 2. 8 .'$�������

c) �
�0�����W?"�<13�" 3. 7 .'$�������

d) n�	-!��	�
!%�.�" 4. 16 .'$�������

������ :
a b c d

(A) 1 4 3 2

(B) 4 1 2 3

(C) 2 1 4 3

(D) 3 2 1 4

65. ���7'8���������,-!'�'�=�U����=�R��q$���
��'�/�������� :

i�j� �� – I i�j� ��– II

a) DPAP 1. 1974-75

b) CADP 2. 1977-78

c) DDP 3. 1980

d) IRDP 4. 1973

������ :

a b c d

(A) 4 1 3 2

(B) 4 3 2 1

(C) 1 2 3 4

(D) 2 3 1 4
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66. Match the following:

List – I List – II

a) Elasticity 1. σ= 1

b) Consumer surplus 2. σ  = 
��

�

+

c) Cobb-Douglas 3. Differentiation

production function
d) CES production 4. Integration

function

Codes :

a b c d
(A) 1 2 3 4

(B) 4 3 2 1

(C) 4 3 1 2
(D) 3 4 1 2

67. Match the following :

List – I List – II
a) ANCOVA model 1. Lagged values of

dependent
variable

b) Distributed lag model 2. Mixture of
quantitative and
qualitative
variables

c) ANOVA model 3. Past values of
explanatory
variable

d) Autoregressive 4. Qualitative
 model variables only
Codes :

a b c d
(A) 2 3 4 1
(B) 4 2 3 1
(C) 4 1 2 3

(D) 2 4 3 1

66. q$���
��'�/�������� :

i�j� �� – I i�j� ��– II

a) �'"�D/������� 1. σ= 1

b) ��#?",<��!'��'�����<���(� 2. σ  = 
��

�

+

c) �DW�"z&��<������V$��Q����{(����� 3. �������(��������

d) CES V$��Q��� �{(����� 4. ���������(��������

������ :
a b c d

(A) 1 2 3 4

(B) 4 3 2 1

(C) 4 3 1 2

(D) 3 4 1 2

67. q$���
��'�/�������� :
i�j� �� – I i�j� ��– II

a) ANCOVA �������,�' 1. ���B$���	$���/��(�1�
�$����'p"��(����(�

b) �$���$����(�6��������,�' 2. �
����,p�$��}���)
<���p�$��}����/��3���1(

��	.�"���������

c) ��D�'��������,�' 3. ������'p�$��}����/��3���1(

<��$����(����(�

d) ��B#�"���	�
�<�����������������,�' 4. <���p�$��}����/��3���1(�

���,	$���%��

������ :
a b c d

(A) 2 3 4 1
(B) 4 2 3 1
(C) 4 1 2 3

(D) 2 4 3 1
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68. Given different ranges of LM curve
identify the correct pair in which the policy
measure(s) is/are effective.
(A) Classical Range : Fiscal policy
(B) Keynesian Range : Monetary policy
(C) Intermediate Range : Both fiscal and

monetary policy
(D) New Classical Range : Price policy

69. Match the following :
List – I List – II

a) Arbitrage 1. Changes in
Exchange rates

b) Hedging 2. Changes in
interest rates

c) Speculation 3. Changes in
commodity prices

d) Compensatory Fund 4. Changes in risk

Codes :

a b c d
(A) 2 4 3 1
(B) 2 4 1 3
(C) 1 3 2 4
(D) 4 3 1 2

70. Match the following :
List – I List – II

a) Narasimham 1. Agricultural Credit
Committee

b) R.V. Gupta 2. Infrastructure
Committee Financing

c) Parekh Committee 3. Restructuring the
Commercial
Banks

d) Verma Committee 4. Banking Reforms

Codes :
a b c d

(A) 4 3 2 1
(B) 3 2 1 4
(C) 4 1 2 3
(D) 2 3 4 1

68. J���B6&����� LM ����	����%'5���-!����'"�
C�(3G�s��-!'����/����'"(�
��������'
����$���<1�n���.�""�������x$'#?",����<1�S
�R@���6&�����
q�N�����<������/���������
(A) j��	�
!'#�"���'"9
� : �D.�"��-!'��������
(B) �w����i��'"9
� : 	!�����"��-!'��������
(C) ����,-!��"�������'"9
�  : �D.�")�	!�����"��-!'�'(�

�7'�&��,
(D) ������"����	�
!'#�"���'"9
� : -!����'��-!'��������

69. q��'��
��'�/��������.
i�j�� – I i�j� ��– II

a) ����I�W]"��'� 1. ���,��'����
C��%'N�3G
���,��'�Q(�

b) A:"&����<>� 2. ���&w�2��%'N�3G����,��'�Q(�
c) ��/���'��'"4���'����� 3. ��������-!����'(3G�

���,��'�Q(�
d) ����HI��
����'��-� 4. ����HI���"#�"������3G�

���,��'�Q(�

������ :
a b c d

(A) 2 4 3 1
(B) 2 4 1 3
(C) 1 3 2 4
(D) 4 3 1 2

70. q$���
��'�/�������� :
i�j� ��– I i�j� ��– II

a) �����'9���:"����������w" 1. ���"���j�#�"���
��'�
�
b) R.V. <���4���������w" 2. ����j�
�
�����$����
c) 4��%'M�"�������w" 3. �'p�"q"�W�"�����(��
C����>'

���"���;�
�����'p"
d) �����'}�������w" 4. W�"�����<>�������@��'p"(�

������ :
a b c d

(A) 4 3 2 1
(B) 3 2 1 4
(C) 4 1 2 3

(D) 2 3 4 1
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Read the passage given below and

answer the following questions asper the
understanding of the passage
(Q. No. 71 to 75).

With the shadow of the El Nin~o looming
over the Indian monsoon, there are
legitimate concerns about its likely impact
on agricultural production and
consequently prices of food products.
What is significant is that over the last
decade Indian agriculture has become
more robust with record production of
food grains and oil seeds. Increased
procurement, consequently, has added
huge stocks of food grains in the
granaries. India is one of the World’s top
producers of rice, wheat, milk, fruits and
vegetables. However, given that India is
still home to a quarter of all
undernourished people in the World and
since on an average almost half the total
expenditure of about half the households
is on food, increasing the efficiency of the
farm-to-fork value chain is crucial for

eliminating poverty and malnutrition.

71. The El Nin~o effect relates to

(A) Rise in surface temperature in the

Pacific Ocean for several months

(B) Fall in the surface temperature in the

Pacific Ocean for several months

(C) Rise in the surface temperature in the

Indian Ocean for several months

(D) Fall in the surface temperature in the

Indian Ocean for several months

�<�������J���B6&�������'"������������/�����(71 – 75)�	�
.�"=(����
�����,-!'�'X�����}�
����'$��!%�.�"�6��$����
����'(��U3�"��D�	�
������3G�V�&��N�
���(����!%�.�"�3G��6��$����
����'(��!'��	�
���'�����<����
�1���&���� ���(���)� !%�o#�"�� ���"���j�#�"��V$��Q$����(A
8���)
�{X$���<1�n���'�����������C(�-!����'(�L�!���!'��	�
����������
s��-!���<1�V�&��WG$��������%����H#�"��3G� ����'B	$'
n�!DT�"���(���7�(�R��V���=���	�
����$���!��.�"����3G�����'$��!%�.�"
���"���j�#�"����'�<����W�<1���� �m�/7����.�"��������$���7��8����n���'
-!'�'"(�)����,�7��Y�q(�������1��'�2�j�
�'��3G�V$��Q���/%�9�
<D-!�������(����� �(B� /%�#�"�&��� 7��8� ����� 	 �
�
�/���3G
����'$��!%�.�"������ ����)� <D-!�������)�4�(�)� �
�&����� �����#�"��
���,��'<1#�"�(��V$��Q��� /%�S���	<��� !%�.'(3G� y�����"<1
n���'���K������'������
Q��"�w��	�
�
�/���3G��4�9H��1���'
3G�
��������=� 	�
q(3G� �'(�<D����$���� ����'$��!%�.�"�3G
V�'=��'�������'$��!%�.�"�����N��W�(3G���<1�����A
8<1����1������
�'���7���$�����5��'�03G���<�����<��������n���'������A
8����%��5��'�0
/%� �����'=��'���[� !��.�"3G�4� 9H ��1���'3]"�����)� !'�	!��"
���',}(�������)� P%�	$�������� �����&��� �%���'�<1� 	 �
q(����
n���'� �� ��� �(� ���� ����/��& ���� 	4�� ����5"$ ��� ���
���$����/����������

71. UX=�D�	�
�����������!%���������6�-��K������
(A) A
9�9{�>�� �������	!���3G� �R�=� �7�((�4�N��V�
�$��(

V��F	<��$��(3G�A
��'�<���!��(
(B) A
9�9{�>�� �������	!���3G� �R�=� �7�((�4�N��V�
�$��(

V��F	<��$��(3G�$��<����!��(
(C) 9:"�!��,� ������ �������	!���3G� �R�=� �7�((�4�N�

V�
�$��(�V��F	<��$��(3G�A
��'�<���!��(
(D) 9:"�!��,� ������ �������	!���3G� �R�=� �7�((4�N�

V�
�$��(�V��F	<��$��(3G�$��<����!��(
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72. The ultimate reason for the expected
fluctuations in the prices of food products
in India during 2014-15.
(A) Fluctuations in agricultural production
(B) Fluctuations in demand for

agricultural products
(C) Erratic monsoons

(D) El Nin~o effect

73. The Paradox of undernourished people
in India amidst huge stocks of food grains
in the granaries could be explained by

I. Lack of purchasing power
II. Maldistribution of Income
III. Improper public distribution system

Codes :

(A) I and II (B) II and III
(C) I and III (D) I, II and III

74. Assertion (A) : Half of the households in
India spend almost 50% of
their income on food.

Reason (R) : The proportion of income
spent on food decreases
with the increase in the
level of income.

Codes :

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not the
correct explanation of A

(C) A is true, R is false
(D) A is false, R is true

75. The most efficient way of increasing the
farm-to-fork value chain of food is
(A) Subsidising Food
(B) Provision of Free Food
(C) Enlarging the PDS network
(D) Creating assured employment

————————

72. ����'$��!%�.�"�3G�  2014-15 �����3G�n���'� ����������C(
-!����'(3G�n��K����y&��!���&�������(��������������1��'p"�����
(A) ���"���j�#�"��V$��Q��3G�y&��!���&�������(�
(B) � ��"� ��j�#�"�� � �� ����� ��C(����� < ��(� &��� ��,�&>�3G�

y&��!���&�������(�
(C) �#�"�������'9:"$���6��$����
����'(�
(D) UX=�D�	�
����������

73. ����'$��!%�.�"�����3G�U����@���� �7���$�� ��3G�n���'� -!'�'"(
�(B(��<D-!'�����(3G�V���=�
Q��"�w��4�9HI�1���'3]"��$D�V���=
q�'���V�&���N������7�8�
O$��"�����<1�S
�R@������/���0�����

I. �R����<D(��.�"�����3]"�����&���N
II. n!'#�"���
�9
pw"3G���������$��������(�
III. �������"����7��8����	�
*��
�9
pw"����"�����


������ :
(A) I �����#�"���II (B) II �����#�"�� III
(C) I �����#�"�� III (D) I, II �����#�"�� III

74. �������������(A) : ����'$��!%�.�"�����3G�!'!'�
C�q�'��3G
��<����<��������<�� �:"����(���'�
n!'#�"��3G�50 .'$����n!'#�",�=
n���'�����������C(�A
8
�7�K0�/���/����'=��'��


������
����(R) : n!'#�"������3G�n���'�����������C(�A
8
�7�K0�/%��.'$��������	�
q(�n!'#�"�
j�
�'���A
��'�<���$������=��Rk\�$��<���������

������ :
(A) A, R �7'�&��,����#?"�8���� R, A ��������#?"�8����������'p"
(B) A, R �7'�&��,����#?"�8���� R, A ��������#?"�8����������'p"

�1!���
(C) A ��$��"�����) R ���$��"�����
(D) A ���$��"�����) R ��$��"�����

75. n���'�����������C(�P%�	$���������&�����#?",<��!'��'�������%���'�<1
����'�{�1����"�����
�������������'
����$����/%�S�����,��'�������
(A) n���'����i&w�(�
(B) VK$���n���'����(Q���
(C) 	�
*��
�9
pw"����"�����
���������l  ��
��'�/���N
(D) ��m�HI�7��8����V!D"Y$'����(Q���
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Space for Rough Work


